M.A. (Previous) Examination, June 2008
(New Scheme- SIM)
ECONOMICS
Paper — |: Micro Economic Analysis

Time:3 Hours Max. Marks: 90

Note: Answer All Sections.
AEZALE: T Aé «'sSAUAUAY%UAZ GVAU.
SECTION - A
«'SAUA -J

Answer any three questions: . o ) .
AiAiA2AAzAzAgAE 2AAEGAA ¥Aze+ERUAVLUE GVAUL:

(15x3=45)

1. What is price elasticity of demand? Explain its different methods of measurement.

"EArPEAIAA "E E Uw AU¥APAVAé JAZAQEAEAA? CzAEAAR CYiEAIAAA2A
¥AZAPWUAYLAEAAR «2Ajt.

Differentiate between traditional and modern theories of costs.

AA¥AzzZAAIAAZA 2AAVAAU DzsAAoPA 2EZAN 1zAPAVAUAVIA £AQAA«EA
aA&GvASa APALAAR WA,

. What is kinked demand? Discuss the Chamberlin theories of costs.

PEAAPAA "EArPE JAzZAQEAEAA? ZEASgA°f£igA2AgA PEAAPAA "EArPE
1zZAPAVARAEAAR ZAad!.
. Critically examine the classical theory of interest.
SroAIAA AA¥AzzA-APA 1zZAPAVARAEAAR «2AA+ASVAAPARAV ¥Aj2A°L,
Discuss the equilibrium of afirm under monospony.
KPA UAa°APA  Aé2AAa 2AIAQAAPAMEOAIAA°e MAzAA  AA EUAIAA
ACAAVE EA®EEAIAAEAAR ZAad?.
SECTION-B
"SAUA - ©

Answer any three questions:
AiAIA2AAZAZAgAZE 2AAEgAA ¥Az+ERUAYUE GVAUjL:

(10x3=30)

6. Explain how price and output are determined under perfect competition.

¥A¥AELS ¥YEEXEAAN 2AIAGAAPAMEOAIAACE "E E 2AAVAAU GVvAAEAR °EAUE
ozsASgA2AUAAVAUREASAZAEAAR «2AjL,



7. Discuss Baumol’s model of sales revenue maximisation.
"AaAATigA2AgA 2AIAgAl DZAAIAA UAJTOAPAgAL 2AIAZAJAIAAEAAR ZAad?.

YAA w.£EAEA

8. Explain the characteristics of indifference curves.
A2AAsA2A gEASEUAYIA UAAI®PAEIUAYAEAAR «2AjL.

9. Discussthe equilibrium of afirm under monopolistic competition.
A&2AASAIAAAVA aAJAgAAPAMEOAIAA°e MAZAA AA EUAIAA
AAAVE EAREEAIAAEAAR ZAad:.

10. What is non — collusive market? Explain Bertrand model.
MPA/EImMEAVAgA 2aAJAgAAPAMEO JAZAQEAEAA? §gimAae6aAqi
aAIAZAJAIAAEAAR «2Ajt.,

SECTION-C
"SAUA -1

Note: Write short notes on any three.

AEZALE: AiAiIA2AAZAZAQAZE 2AAAEGAPE] ®WAA n¥AatA §gE-A).

11. General Equilibrium
ASAIAEAA ASAAVE/EA®EA

12. Micro and Macro Economics
AEPA&6E 2AAVAAU «+A~AvAGPA CxAd+A AU¢

13. Isoquants
A2AA GVAAEAR gEASEUAVLAA

14. Supply curve
¥A/EQEEPE gEASE

15. Elasticity of technical substitution
vAAwaePA ¥Azw «zsAEA 1Uw AU¥APAVAE.



M.A. (Previous) Examination, June 2008
(New Scheme- SIM)

ECONOMICS
Paper — |1: Economics of Development and Growth

Time:3Hours Max. Marks: 90
Note: Answer A_I | Sections. . o
ALEZALE:  J Aé «'sSAUAUAUAZA GVAULL
SECTION - A
«'sAUA -J
Answer any three questions:
AiAiA2AAZAZAgAE 2BAAEGAA ¥Ase+ERUAYUE GVAUjL:
(15x3=45)
1. Critically examine the Harrod and Domar model of economic growth.
DydPA "EVAAAtAUEAIAA °A&gAqi-qEAE2AAgI aAAZAJAIAAEAAR
«2AA+ASVAEPA2AV «+EEANAUE.
2. Examine the interrelationship among population, poverty and environment.
DEA AASES, SqAVAEA AAVAAD ¥Aj AgA E2AAUAVZA EAQAAGEA YAgA AagA
LAABAZSAPALAAR «2AfL,
3. Giveacritical account of Schmpeterian model of economic growth.
DydPA "EY.ACAtAUEAIAA +tAAAIMEAJAIAALT 2AiAZzA] SUET n¥AAtA §gE-A).
4. Discussthe different indices of the quality life.
UAARAAIOZA TARAEAZA ««zsA AEZAPAUAYAEAAR ZAad!.
5. Discussthe composition of human devel opment index.
aAJAEARA COUPAECP A/EZAAAPAZA AAgAZAEEAIAAEAAR ZAad!.
SECTION-B
"SAUA - ©

Answer any three questions:



AiAIA2AAZAZAgAZE 2AAEGAA ¥Az+ERUAYUE GVAUjL:
(10x3=30)
6. Critically examine the role of MNC’s in LDC’s.
»AzAAY:zA gAPAOCUAYLAE §PAAQGATOCAAIAA PAA¥ACUAYLA ¥AvAae2AEAAR
«®AA+ABVAEGPARAV «+ESATL.
7. Globalisation enhance the growth in devel oping countries? Explain.
eAUAWAPAQAtPAA COURPAECP2A® gApAOCUAVIAE "EY.ARAtAUEAIAAEAAR
GVEUAf AAVAUZE? «@Ajt,

YAA w.£EAA

8. Ciritically evaluate unbalanced growth theory.
C,A2AAVE/EAVA  "EVARAIAUE  1ZAPAVARAEAAR  «2AA+ASVAEGPA2AV
aAE®A2AIA¥YAELA 2AiAr.
9. Discussthe role of technology as afactor in economic growth.
DyoPA  "EVAATAUEAIAA°eé  MAzAA  CA+A2AV  vAAvA=eAOEAZA
¥AvAPALAAR ZAad!.
10. Explain Ramsay’s rule in optimal savngs.
DzA+Ad GY%VAAIAAPEI AASAC(ZA gA2AA EA cAIAARAARALAAR «2AjL,
SECTION-C
"SAUA -1
Note: Write short notes on any three.
AEZALE: AiAIA2AAZAZAGAZE 2AAAEGAPE] ®WAA n¥AatA §gE-A.
11. Absolute poverty
ogA¥EAPAE §gAVAEA
12. HRD model
aAJAEARA AA¥AEAEE® DOURAECP 2AIAZA|
13. Market failure
aAJAgAAPAMEOD 2EE¥SA®E
14. Balanced growth
AAAVE ZEA°VA "EVLARAtAUE
15. Inflation
°AtzAASAgA.



M.A. (Previous) Examination, June 2008
(New Scheme- SIM)

ECONOMICS
Paper — |11: Quantitative M ethods

Time:3 Hours Max. Marks: 90
Note: Answer All Sections. . o
ALEZALE: J Aé «'sAUAUAUAZ GVAULL
SECTION-A
«'SAUA -J

Note:- Answer any three questions by choosing one each from mathematical methods and
statistical methods. All questions carry equal marks:

AEZALE:- UAAVA «'sAUA 2AAVAAU  AASA8+A AUg «'sAUAUAYAZA vA™A
MAZAA  ¥A=+ERUE  PArPEA  E®ezAAVE  DAIAAAYPEAAQAA
A[AiAaAAzAzAgA/E . aAA,CEgAA _ ¥A=iERUA%UE  GVAUL. J Ae
¥Ae+ERUALLUAL ACAIAEA CAPAUAYLAA. (15x3=45)

1. Definelinear programming. Explain the formulating of alinear programming problem.
*AcAiAAgi  ¥EAAUA=«AAUT 2A&4SA&nl. °AcAiAAgi  ¥EAsAUAs«AAUI
sAAE®PA AAA EAAIAAEAAR ngA/E! AASA SUET «@Ajt.

2. Thefollowing are the demand and supply functions of stedl:

Qd= 200-10P
Qs= 100+15P
1) Find the market equilibrium price and quantity exchange.



i) If the Government will give subsidy of Rs.2 per unit to steel, find the new market

price and quantity exchange.

1ii) Graph the functions.

F PEVAVEA2AAUAYLAA PA©ALzA "EArPE 2AAVAAU cArPE ©ASPAUAYLAA:

Qd= 200-10P
Qs= 100+15P

i) 2EAAEA ©ASPAUAYAEAAR GYAAIEAAV:  ACAAVEEAREA E E

aAAVAAU ¥Az2AIAtUAVZAEAAR PAAGAA»T-A].

i) ¥Asew WAIPAPEI gA/E.2 A°AAIAA zsAEA APAdgARAA wArzAUA,
£AAVAQA 2AIAQAAPAMEOAIAA ACAAVEAAREA "E E 2AAVAAU “EArPE
PAAQAA »r-Aj.

iii) GVAUQA2A£AAR EAPEEAIAA BEAAE 2AA/ZETL,

YAA w.£EAEA

3. Pareto’s law of distribution of income is given as N= 8 x 10°
X %,
i) How many have income exceeding Rs. 1,6007?
i) How many have income between Rs.1,600 and Rs.3,600?
i) What is the lowest income of wealthiest 800 individuals?
3. YAAgEME/EQGA*AgA DZAAIAA «AgAUEAIAA nAIAARAASAEAAR N= 8 x 10°
JAzZAA PEAQA AVZE. E°é 3
) JUARO dEAGA DZAAIAA GAZE.1,600 AEAAR «AAJZE?
i) JUAAO dEAgA DzAAIAA gA/Z.1,600 2AAVAAU gA/E.3,600 £EAgAARE EZE?
iii) 800 dEA CVASAVA 2 A2AAAVAgA PAapuAx DZAAIAARELAAD?

4. The ranks of 15 students in two subjects Economics (X) and Statistics (Y) are given
below. Calculate the Spearman’s rank correlation coefficient. o
15 «zAdydUAY.A  CxAd8+A AUc  2AAVAAU  AASAa+A AUc  zAeEd
¥AnNOAIAAEAAR F PEVAUE PEAENOZE. 1AAIAAgiPAAEIgA2AgA  A°A AASAZSA
UAAUAAPACAEAAR "EPAICAQ:

X: 123 456 7 8 9 10
Y: 107 2 6 48 3 1 9 5

5. What are the different components of Time Series? How are fluctuations overcome in a
timeseries? o . o
ARAAAIAA +EaAtAAIAA ««zsA WAIPAUAYV,AZAA2AA? A2AAAIAA +EaAtAAIAA
aA3vAa AUAYVLAEAAR °EAUE °EAAUA Ar A~ AUAAVAUZE.



SECTION-B
"SAUA - ©

Note:- Answer any three questions by choosing one each from mathematical methods and
statistical methods. All questions carry equal marks:

AEZALE:- UAAVA «'sAUA *AAVAAD AASA&+A AUc «'SAUAUALAZA VA A
MAZAA ¥Ae+ERUE PA(aEA E®ezAAVE DAiAAAYPEﬁEAqAA
AiAiAGAAZAZAQAE  2AAEQgAA  ¥A=e+ERUAWMUE  GVAUjR  J Aé
¥Aae+ERUALUAE  A2AIAEA CAPAUAVLAA. (10x3=30)

6. If the demand law is Qd = 20-p? and supply law is Qs = -4 + 2P, find the equilibrium
price and quantity.
PEYAVEA "EArPE 2AAVAAU ©oArPE O©ASPAUAYAEAAR SYAPE/AEAQAA
ACAAVEAEAREA "E- E 2AAVAAU ¥Az2AIAtUAYAEAAR PAAGAA »r-Aj:
Qd = 20-p
Qs=-4+2P

7. Solve the following system of simultaneous equations by using Cramer’s Rule:
PEVAVEA A«AAPAgAtUAVIAEAAR PAae@AAgi cAIAARAACAEAAR VAL, ©rt:
2X1— 3o+ X3 =7

X1—2X2+3X3=5
3X1 X2+ 2X3=10

8. Find the MC and AC functions from the following total cost function. Also find the value
of MCandACaQ=3and Q=5.
F PEVAVEA MIAO 2EZAN ©ASPACAZA tA2AIAAVA 2EZAN 2AAVAAU AgA A
aEZAN ©ASPAUAYVAEAAR PAAQAA »r-Aj. CAUAZE Q = 3 and Q = 5.EZAYUA
1A2AIAAVA 2AAVAAU AgA Aj 2EZANUAVLA 2AIE®E2AEAAR “EPAIPAIAT:
TC=35+5Q - 2Q* + 2Q°

9. Compute co-efficient of variation for the following data:

PEYAVEA CAQ CA+APE] PEAACzAAIAA «ZA®EA 2AIA¥YAPAPAEAAR PAAQGAA
»r-Aj:

Class Intervdl

(AUAGAVAGA)(|  0-10 10-20 20-30 30-40 40-50 50-60
X)

Frequency 10 16 15 12 10 7
(D2AEWO)( f)

10. Explain the various measures of central tendency.
««zSA PEAACsAAIAA 2AIA¥APAUAYLAEAAR «2AjL,
SECTION-C
"SAUA -1



Note:- Answer any three questions by choosing one each from mathematical methods and
statistical methods. A A
AEZALE:-UAAVA  «'sAUA 3AAVAAU  AASA&+A AUc «'sAUAUAYAZA VvA™A
MAzAA  ¥AeezERUE ‘PAra‘EA ~ E®ezAAVE DAIAAAYPEZAAQAA
AiAiA2AAZAZAgAE 2BAAEGAA ¥Ase+ERUAYUE GVAUJL.
11. Quantitative methods in economic analysis.
DydPA «+EApAUEAIAA e UATAWAAIAA «zsAEAZA ¥AvAz.
12. Explain different types of matrices.
««zsA jJAWAIAA 2AIAVAEPEUAYLAEAAR «AjL,
13. What are the uses of Pareto’s Law of Distribution?
¥AAgEmME/EAgA2AgA DzAAIAA «vAgAuE oAIAAZAAZA
GYAAIEAAUAUAYAZAR2AA?
14. Diagrammatic representation of data uses.
£APAE ngA/EYAUEAIAA CEAAPA/ERVEUAYLAA,
15. Lorenz Curve.
“EAAQEAei gEASE.

M.A. (Previous) Examination, June 2008
(New Scheme- SIM)
ECONOMICS

Paper — 1V: Public Economics

Time3 Hours Max. Marks: 90

Note: Answer All Sections.
AEZALE: T Aé «'sAUAUA%UAZE GVAUL.
SECTION - A
«'SAUA - J
Answer any three questions:
AiAIA2AAZAZAgAZE 2AAEgAA ¥Az+ERUAYUE GVAUjL:
(15x3=45)

1. Critically examine the allocation, distribution and stabilization functions of modern

government.



DzsAAaPA APA3gAzA °AAaPE PAAIAAS, «vAgAuE 2AAVAAU tUgAvE
PAAIAASRAEAAR «2AA+ASVAAPARAV ¥Aj2AL,
2. What is market failure? Explain different forms of it.
aAJAgAAPAMED 2EE¥SA®E JAZAQEAEAA? CzAgA ««zsA gAAE¥AUAYAEAAR
@A,
3. What is Budget? Explain its main factors of 2008-09 Indian budget.
aAAAAUAQA ¥AvAz JAZAgEAEAA? “sAgAvAzA 2008-09gA 2AAAAUAQA
¥AvA@xPEI CEAE-A AA2AAVE 2AAARA CAAUAYLAEAAR «2AjL,
4. Distiguish between public goods and private goods.
,A2A8doPA 2AAVAAU SA AV 2A AAUUAYA £AGAARE EgAA2A 2A8vA4 ASALAAR
wyal,
5. Describe the process of public choice.
A2AdweePA DAIEAIAIAA «zsAEARAEAAR «@AJL,
SECTION-B
"SAUA - ©
Answer any three questions:
AiAIA2AAZAZAgAZE 2AAEGAA ¥Az+ERUAYUE GVAUjL:
(10x3=30)
6. What are the merits and demerits of VAT?
aAIE@&2ACUSVA VEJUEAIAA UAAL 2AAVAAU C2AUAAL AiAiA2AA2AA?
7. Give an account of Wagner’s law of increasing state activity.
aAQUARgIgA2AgA °EZAANWUgAA2A gAda ZAIARAnPEUAYZA 1zAPAVARAEAAR
«@AJL.
YAAW.E£EAA

8. Examine the recommendations of the twelth finance commission.

SALERGAGAEEAIAA °AtPA AA DAIE/EAUAZA 2¥sAgA AAIUAVLAEAAR ¥Aj2A°L,
9. What are the reasons for the growth of public expenditurein India?

"sAgAvAzA°e A2AddoPA 2EZAN eAtUAIAIAUA®A PAgAtUAYVLAA AiAiA2AA2AA?
10. What is pareto optimality?

¥AGMEEA UAJUAXVE JAZAgEAEAA?

SECTION-C
"SAUA -1

Note: Answer any three:



AEZALE: AIAIARAAZAZAQA L 2AAEGAPE] GVAULL,
11. Canons of taxation

VEJUEAIAA oAIAA2AAUAYAA
12. Zero based budget

+A/E£A8 DzsAjvA §eEmi
13. Public debt

AASdoPA A®
14. Externality

"A°Ad ¥AjuACLAAUAYAA
15. D.U.P. Activities.

r.AIAAA.!. ZAIA2ANPEUAY.AA

M.A. (Previous) Examination, June 2008
(New Scheme- SIM)

ECONOMICS
Paper — V: Money, Banking and Financial M arkets

Time3 Hours Max. Marks: 90
Note: Answer All Sections. A
AEZALE: T Aé «'sSAUAUAYUAZ GVvAUj.
SEC'I"I QN -A
«'sAUA -]

Answer any three questions:



AiAiA2AAZAZAgAE 2BAAEGAA ¥Ase+ERUAYUE GVAUjL:

1.

(15x3=45)

“’NBFI’s pose threats to the efficacy of monetary policy’’. Elucidate.
“oAtPA AA cAwWAIAA zAPAEVEUE “ASAPEAVAgA °AtPA AA AA EUUAVIAA
JAATAUAAGAABAA” «+ACAPAL.
“’Unit banking is unsuited for an expanding modern economy’’. Do you agree?
"« AUj,A®a0AAWUgAARA  DzsAAcPA DydPAVEUE AIAAZomi  (WAIPA)
"AGAQAUI ¥AZAPWAIAAA AEPAU2A®E”- aA2AA M¥AAa«gA?
Describe the evaluation and growth of discount houses in England.
EAUEGArEA 2AmAO 2AAELEUAYA «PA A 2AAVAAU “EV.A2AtAUEAIAAEAAR
«@AJL.
Compare and contrast between British and Indian commercial banking system. What are
their specia features?
©aenpi 2AAVAAU “"sAgAwWAAIAA 2AtAda "AGAQAUI 2A&2A EUAIAA °E/EA°PE
aAAVAAU aAdvAd, AUAYZAEAAR Wl C2AAUAVLA «+EApA
®PABtUAYLAAAAA?
Describe the Balance Sheet of a bank. How does it reflect the Bank’s financial position?
"ASBAPE/EAZAgA ~EAtA-ZEAIAIVA¥AA®A ¥AnOAIAAEAAR «2Ajt. CzAA °EAUE
"ABAQEA °AtPA AA 1UWAIAAEAAR ¥Azew¥sA® AAVAUZE?

SECTION-B

"SAUA - ©

Answer any three questions:
AiAiA2AAZAZAGA/E 2BAAEGAA ¥Ase+ERUAYUE GVAUjL:

6.

7.

8.

(10x3=30)
Explain the meaning and derivation of bank credit multiplier.
"AGAPAA ¥AVAAU UAALPA +A8YzA CxAd 2AAVAAU GvAawUAIAA SUET «2Ajt,

YAA w.£EAEA

Discuss the significance of control mechanism of a money market.

oAt ¥EAMEAIEAAZAGA cAiAAAVAzt QaeAIEAAIAA 2AACAVAE2AEAAR PAAJVAA
ZAady.

Describe the recent trends in American commercial banking system.

CaEAA|PAET 2AtAda "AGAQAUIEA EwUAa£A "EVAA2ATAUEUAYLAEAAR «2AjY.



9. Distinguish between Basel-l and Basel -IlI. How to they help to bank solvency and
profitability? o . o S
"AAET - | 2AAVAAU A3 AT - Il gA EAgAAAt 2AAvAA ASEAEAA?
"ASBAPAAUAYZA ~A'sAvE 2AAVAAU zAPA&VE Aci A®A C2AAUAVLAA °EAUE
¥Az 'sA2A ©AgAAcAARAA?

10. How does financial liberalization affect the relationship between commercia banks and
central bank? A A N
PEAAzAze "AGAPAA 2AAVAAU 2AtAda £AgAA®At  AABAzsAzA 2EAATE
oAtPA AA GzAJAPAgARAA cEAUE ¥AzsA2A ©OAgAA2AAZAA?

SECTION-C
"SAUA -1

Note: Answer any three:

AEZALE: AiAIA2AAZAZAGA/E 2AAAEGAPE] GVAU}L.

11. What do you want by three C’s in banking? How do they affect bank efficiency?
"AAAQAUIEA°e aAAEgAA ‘v UAYEAZAgEAEAA? C2AAUAYLA °EAUE "A&APIEA
ZAPASVEAIAALAAR ¥Aze sA« AA2AA2AA?

12. Bank Rate Policy.

"A8APIzAgA cAw

13. Monetary Policy
oAtPA AA nAw

14. Financial Assets.
oAtPA, AA DIUUAVLAA

15. Non- Bank Financial Intermediaries.

“ABAPEAVAGA AtPA AA AA EUUAVAAA.



